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Partl. LITOREX%EHH, REICEI LI,

Most scientists agree that human activity is affecting the weather. ( @ ) global
warming, we are seeing extreme events like (a) giant storms. This change in long-term?
weather pattern is called “climate change.” (1) (Z DRIBEA AR T E 2 & 1d. FozbICE > TK
ERFYLYIICHRYET).

Global warming is caused by pollution from cars, factories, and other sources. Their
gases trap? the sun’s heat, leading to rising temperatures on Earth. ( @ ) temperatures go
up, sea levels also rise, which could flood cities one day. Typhoons and other storms are also
becoming more serious. And we are seeing unusually cold winters along with huge snow

storms.

We have the technology to slow down the problem. New equipment can lower the

pollution from power (b) plants. Car companies can make engines cleaner. And we can get

more energy from wind, solar, and other clean sources.

New laws are needed to make these changes happen. Some governments, ( @ ),

worry that such laws will hurt their economies. Getting everyone to agree on the (c) issue is

far from easy.

People like you and me can help in the fight. ( @ ), we can buy refrigerators and
light bulbs® that use less energy. ( ® ), car buyers can consider electric cars or cars with a
hybrid* engine. By working together, (2) (RUBRZB)ICK L CTRIANZ T 5 Z LIFAIRETH 5).

E 1 long-term [RHID ], 2.trap [BILA® 3], 3.light bulb(s) [EBER]. 4. hybrid [NA 7 Uy R

(80 : Andrew E. Bennett, Reading Pass 1, second edition, p. 88, EE, 2014 & \) —&btk#r, HBOEHA L.
BEXO—EICEEEMZTWN5D,)
1. AXROZEFEEE)~C)DEDD, XRTOBKRICELITVEEXFNSELEZRS L,

2. OroO®ODZEMICABBEYREBERD (7) o (F) LUVRBUESTEZRI WL, 7272
L. XHEEICKPEBEH/NXFTRLTH D,

(7) however () also (7) for example (x) as (#) besides



3. (D 2 DEABOBKRICAZ LI UTOBEDELABEZ TR ETRSE, 3EHL6F
BICK2BADESEEETHRI W, 72720, XBEICKBBLNAXFTRLTH 5,
(1) @ usall @ solving ® will @ for ® abig ® be @ challenge ® the problem
(2) @ do @ climate ® it @ about ® is ® change @ to possible @ something

4, UTOXENAXDOABEAHL TN T 2, BBELTLWETNIEF EEEhI L,
(1) New technology can accelerate global warming.
(2) Flooding could be caused by heavy rains.
(3) All countries are more concerned about global warming than their economies.
)

(4) People like you and me can contribute to reducing energy use.

Partll. ( ) AOBEHLFEDEZEAT, XEZTRIEHIL,

(1) Pets ( @ aren't allowed / @ don't allow ) in this hotel.

(2) Yuka and Rin ( @ were / @ have been ) friends since they were children.
(3) My catis ( @O more small / @ smaller ) than yours.
)

(4) Excuse me, do you know where ( @ the stationis / @ is the station ) ?
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